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S1

Multiplication within 100 | Missing Factors

1) Morgan’s favorite bakery sells mu�ns in packs of 4. If Morgan wants to

purchase 20 mu�ns in all, how many packs must he buy? 

4 = 20×

2 = 18×

3) Nancy needs to arrange 18 vases in a cabinet. Each shelf of the cabinet can

hold 2 vases. How many shelves does Nancy need for her vases? 

2) Marley bought each of his friends 8 pieces of candy. If he bought 72 pieces of

candy in total, how many friends did he buy the candy for? 

= 728 ×

= 10010 ×

4) Giselle’s backyard garden has 100 tomato plants, neatly planted in rows of 10.

How many rows of tomato plants does the garden have? 

5) Each booth in Sam’s Diner can seat 8 people. If the diner can seat 56 people,

how many diner booths are there in all?

= 568 ×

Preview

Become a member to unlock 
unrestricted access to both printable 

and online worksheets.

www.tutoringhour.com


